H= 15km
Statistics Summary:
T [2€] | 6.70(24) 29.70(35) 52.40(08)
P [torr] 90.80(06) 90.80(11) 90.80(20)
[kPa] 12.106
o, (Aa) (dB/km] | 0.079 0.079 0.078

A-55



H =15 km
6= 70.C 29.7°¢ 52.4°¢C
£, [GHz] a, (Sa) £, [GHz] a, (da) £, [GHz] a, (éa)
P [torr] ay (tAa) P [torr] ay (tAa) P [torr] ay (Aa)
dB/km dB/km dB/km
53.89435 0.00(.05) 53.89439 0.17(.03) 53.89444 0.03(.03)
90.7 0.09( 0.11) 90.8 0.09(-0.08) 90.7 0.09( 0.086)
53.99310 0.10(.02) 53.99311 0.12(.02) £53.99315 0.14(.03)
90.7 0.14( 0.04) 90.8 0.14( 0.02) 90.5 0.14( 0.00)
54.09171 0.35(.02) 54,09177 0.15(.02) 54.09173 0.28(.03)
90.8 0.23(-0.12) 90.7 0.25( 0.10) 90.8 0.26(-0.02)
54.19045 0.31(.02) 54.19072 0.12(.02) 54.19045 0.33(.03)
90.8 0.23(-0.08) 90.8 0.24( 0.12) 90.9 0.25(-0.08)
54.28908 0.21(.02) 54.28905 0.17(.02) 54.28910 0.18(.04)
90.8 0.16(-0.05) 90.7 0.16(-0.01) 90.8 0.16(-0.02)
54.38650 0.20(.02) 54.38661 0.13(.02) 54.38778 0.00(.03)
90.7 0.15(-0.05) 90.8 0.14(¢ 0.01) 90.8 0.14( 0.14)
54.42803 0.24(.02) 54.42898 0.23(.02) 54.42997 0.25(.04)
90.7 0.16(-0.08) 90.6 0.15(-0.08) 90.7 0.14(-0.11)
54.52916 0.30(.02) 54.53024 0.12(.03) 54.53024 0.26(.03)
90.8 0.23(-0.07) 90.8 C.23¢( 0.11) 90.9 0.22(-0.04)
54.63010 0.24(.02) 54.63013 0.54(.03) 54.63019 0.40(.03)
90.7 0.39( 0.15) 90.8 0.40(~-0.14) 90.7 0.41( 0.01)
54.73019 0.33(.02) 54.73020 0.39(.03) 54.73025 0.44(.04)
90.8 0.39( 0.06) 90.8 0.40( 0.01) 90.3 0.41(-0.03)
54.83016 0.36(.03) 54.83022 0.22(.03) 54.83018 0.17(.03)
50.8 0.27(-0.09) 90.7 0.26( 0.04) 90.8 0.25( 0.08)
54.93026 0.34(.03) 54.93052 0.12¢.03) 54.93024 0.22(.04)
90.8 0.24(-0.10) 90.8 0.23¢ 0.11) 90.9 0.21(-0.01)
55.03023 0.25(503) 55.03020 0.27(.03) 55.03025 0.27(.04)
90.8 0.31( 0.06) 90.7 0.28( 0.01) 90.8 0.26(-0.01)
55,12898 0.50(.03) 55.12910 0.35(.04) 55.13028 0.53(.03)
90.8 0.50( 0.00) 90.8 0.48( 0.13) 90.8 0.47(-0.06)
55.16105 0:51(03) 55.16202 0.57(.03) 55.16302 0.58(.04)
90.6 0.59( 0.08) 90.8 0.58( 0.01) 90.7 0.57(-0.01)
55.,26355 0.74(.03) 55.26464 0.79(.04) 55.26464 0.60(.04)
90.9 0.67(-0.07) 90.8 0.67(-0.12) 91.4 0.66( 0.06)
55.36584 0.34(.03) 55.36589 0.54(.04) 55.36595 0.40(.03)
90.7 0.47( 0.13) 90.8 0.43(-0.11) 90.7 0.40( 0.00)
55.46729 0.38(.03) 55.46730 0.42(.03) 55.46736 0.44(.05)
90.8 0.39( 0.01) 90.8 0.35(-0.07) 90.3 O3l (=05 3
55.56861 0.55(.03) 55.56867 0.37(.03) 55.56864 0.31(.03)
50.8 0.45(-0.10) 90.7 0.40( 0.03) 90.8 0.36( 0.05)

A-56



H = 15 km
6:72C 29.7°C 52.4°C
f, [GHz] a, (Sa) f, [GHz] a, (éa) f, [GHz]) a, (da)
P [torr] ay (*Aa) P [torr] ay (tAa) P [torr] ay (tAa)
dB/km dB/km dB/km
55.67005 0.66(.03) 55.67032 0.51(.04) 55.67005 0.59(.03)
90.8 0.71( 0.05) 90.8 0.65( 0.14) 90.9 0.60( 0.01)
55.77138 0.98(.03) 55.77135 1.09(.03) 55.77140 0.90(.03)
S0.8 1.09( 0.11) 90.7 1.05(-0.04) 90.8 1.01( 0.11)
55.87147 0.97(.03) 55.87148 0.86(.02) 55.87278 0.74(.04)
90.8 0.94(-0.03) 90.8 0.87( 0.01) 90.8 0.79( 0.05)
55.89407 0.97(.03) 55.89505 0.60(.03) 55.89607 0.70(.03)
90.7 0.87(-0.10) 90.6 0.79( 0.19) 90.7 0.71( 0.01)
55.99793 0.61(.03) 55.99903 0.64(.02) 55.99904 0.52(.04)
90.9 0.70( 0.09) 90.9 0.60(-0.04) 90.7 0.52( 0.00)
56.10159 0.75(.03) 56.10163 0. (.04) 56.10170 0.59(.04)
S0.7 0.79( 0.04) 90.8 0.67(-0.12) 920.7 0.58(-0.01)
56.20439 1.13(.03) 56.20440 1.00(.04) 56.20446 0.86(.05)
90.7 1.413(¢ 0.00) 90.8 0.98(-0.02) 91.2 0.86( 0.00)
56.30705 1.50(.03) 56.30712 1235 (2039 56.30708 1.46(.04)
90.8 1.67( 0.17) 90.7 1.51( 0.16) 90.8 1.38(-0.08)
56.40985 1. (.04) 56.41013 1.34(.03) 56.40985 1.26(.04)
S80.8 1.69( 0.16) 90.8 1.53( 0.19) 90.9 1.40( 0.14)
56.51254 1.05(.03) 56.51250 0.99(.03) 56.51256 0.74(.04)
90.8 1.12( 0.07) 90.7 0.97(-0.02) 90.8 0.84( 0.10)
56.62709 075 -03) 56.62809 0.77(.02) 56.62912 0.57(.03)
90.7 0.83( 0.08) 90.7 0.70(-0.07) 90.7 0.59( 0.02)
56.73232 0.84(.03) 56.73344 0.81(.03) 56.73344 0.66(.04)
90.9 0.87( 0.03) 20.8 0.73(-0.08) 91.3 0.62(-0.04)
56.83734 1. (.03) 56.83738 1.19(.04) 56.83745 1. (.04)
90.7 1.25( 0.14) 90.8 1.08(-0.11) 90.8 0.94(-0.09)
56.94149 1. (.04) 56.94151 1.68(.04 56.94157 1.54(.05)
90.7 1.92( 0:17) 90.8 1.74( 0.06) 91.0 1.59( 0.05)
57.04551 1.63(.03) 57.04557 1 (.04) 57.04554 1.20(.04)
90.8 1.71( 0.08) 90.7 1.51( 0.06) 90.8 1.35( 0.15%)
57.14966 1.18(.03) 57.14993 0.76(. ) 57.14966 0.95(.04)
S0.8 1.13(-0.05) 90.8 0.95( 0.19) 90.9 0.81(-0.14)
57.25368 0 (.04) 57.25366 0.66(.03) 57:25372 0.52(.04)
90.8 0.91( 0.10) 20.7 0.75( 0.09) 90.8 0.63( 0.11)
57.36012 1.15(.06) 57.35656 0.90(.03) 57.36217 0.80(.06)
90.7 0.99(-0.16) 90.8 0.81(-0.09) 90.7 0.68(-0.12)
57.46671 1.47(.04) 57.46785 1.36(.04) 57.46785 0.90(.04)
90.9 1.44(-0.03) 50.8 1.22(-0.14) 91.0 1..03¢( 0.13)

A=-57



H = 15 km
6L T7oC 29.7°¢C 52.4¢°C
£, [GHz] a, (da) £, [GHz] a,(sa) f, [GHz] a, (da)
P [torr]  ay(*Aa) P [torr] ay(%Aa) P [torr]  ay(*Aa)
dB/km dB/km dB/km
57.:57310 2.10(.04) 57.57315 1.79(:03) b7.57321 1.81(.05)
90.7 2.25( 0.15) 90.8 1.98( 0.19) 90.8 1.76(-0.05)
57.67862 2.06(.04) 57.67863 1.74(.05) 57.67870 1.68(.04)
S0.7 2.13( 0.07) g90.8 1.85( 0.11) S0.4 1.63(-0.05)
57.78398 1.51(.04) 57.78406 1.22(.04) 57.78402 1.031.03)
S0.8 1.39(-0.12) 90.7 1.15(-0.07) 90.8 0.96(-0.07)
57.88948 1.11(.03) 57.88976 0.82(.04) 57.88949 0.66(.04)
90.8 1.07(-0.04) 90.8 0.86( 0.04) 90.9 0.70( 0.04)
57.99486 1:312(:03) 57.99483 0.80(.03) 57.99490 0.78(.05)
0.8 1.07(-0.05) 90.7 0.86( 0.06) 90.8 0.69(-0.09)
58.09890 1.41(.02) 58.0941¢9 1.22(.03) 58.09982 0.89(.02)
90.9 1.39(-0.02) g80.6 1.09(-0.13) 90.8 0.91( 0.02)
58.18797 = 09:(c 2) 58.20227 1.79(.04) 58.18943 1.47(.02)
0.8 .02(-0.07) 90.9 1.78(-0.01) 90.7 1.39(-0.08)
58.29363 .98(.03) 58.30891 2.71(.03) 58.30898 2.45(.03)
90.7 .17( 0.19) 90.8 2.82( 0.11) 90.9 2.45( 0.00)
58.37682 3.25/(.02) 58.37750 2.75(.02) 58.37752 2..33(.02)
91.0 3.42( 0.17) 90.6 2.92( 0.17) g91.0 2.51( 0.18)
58.41573 3.05(.04) 58.41574 2.81(.04) 58.41580 2.20(.04)
90.7 3.25( 0.20) 50.8 2.74(-0.07) 90.3 2.34( 0.14)
58.46980 2.77(.04) 58.47028 2.21(.02) 58.47041 1.87(+02)
91.0 2.85( 0.08) 90.7 2.37( 0.16) 90.8 2.00(¢ 0.13)
58.52244 2.37(.02) 58.52251 1.99(.03) 58.52247 155195903
90.7 2.40( 0.03) 90.7 1.96(-0.03) S0.8 1.63( 0.12)
58.56258 2.04(.02) 58.56282 1.66(.02) 58.56304 1.38(.02)
90.7 2.07( 0.03) 90.8 1..67( 0.01) 90.8 1.37(-0.01)
58.62928 1.62(.02) 58.62956 1.31(.03) 58.62928 125803
90.8 1.63( 0.01) 50.8 1.30(-0.01) 90.9 1.04(-0.11)
58.73600 1.33(:03) 58.73598 0.95(.03) 58.73603 0.92(.04)
90.8 1.27(-0.06) 90.7 1.00( 0.05) 90.8 0.79(-0.13)
58.84141 1:23(.02) 58.84154 0.97(.02) 58.82828 0.90(.02)
90.7 1.23( 0.00) 90.8 0.96(-0.01) 907 0.76(-0.14)
58.92219 1.30(.01) 58.92398 1.20(.01)
90.8 1.39( 0.09) 90.9 1.10(=0.10)
59.02919 1.75(.02) 59.02930 1.54(.01) 59.04470 1.32(.03)
90.7 1596 0:21) 90.9 1.59( 0.05) 90.9 1.40( 0.08)
59.11343 2.48(.01) 59.15281 4(.03) §9.15287 1.92(.03)
91.0 2.63( 0.15) 90.8 2.38( 0.04) 933 2.05( 0.13)



H = 15 km
6.7°C 29:7°C 52.4°C
£, [GHz] a, (&a) £, [GHz] a, (sa) f, [GHz] a,(da)
P [torr]) ay (tAa) P [torr] ay (tAa) P [torr] ay (tAa)
dB/km dB/km dB/km
59.20757 2.61(.01) 59.20808 2.16(.01) 59.20821 1.84(.01)
90.9 2.71( 0:10) 0.7 2.28( 0.12) 90.8 1.94( 0.10)
59.26085 2.28(.02) 59.26093 2.00(.03) 59.26089 1.59(.03)
90.8 2.36( 0.08) 90.7 1.94(-0.06) 90.8 1.61( 0.02)
59.30154 2.14(.01) 59.30178 1.71(.01) 59.30200 1.37(.01)
90.8 2.10(-0.04) 90.8 1.69(-0.02) 0.8 1.38( 0.01)
59.36905 1.94(.02) 59.36934 1.48(.02) 59.36906 1.28(.03)
90.8 1.87(-0.07) 90.8 1.48( 0.00) 90.9 1.19(-0.09)
59.39716 1.89(.01) 59.39717 1.56(.01) 59.39779 1.16(.01)
90.9 1.86(-0.03) 90.8 1.47(-0.09) 90.7 1519 0.03)
59.47712 2.09(.02) 59.4770°9 1.67(.02) 58.47715 1.34(.02)
90.8 2.10¢( 0.01) 90.7 1.69( 0.02) 90.8 1.38( 0.04)
59.56507 2.49(.01) 59.56580 2.06(.01) 59.56603 1.79(.01)
90.9 2.56( 0.07) 91.0 2.13( 0.07) 90.8 1.80( 0.01)
59.58385 2.55(.03) 59.58388 2.13(.02) 59.58528  1.74(.03)
90.8 2.61( 0.06) 90.8 2.17( 0.04) 90.8 1.85( 0.11)
59.65641 2.33(.01) 59.67102 1.82(.02) 59.67102 1 (.03)
S0.8 2.42( 0.09) 90.9 1.90( 0.08) 90.7 A58 R OS1 5
59.76475 1.68(.01) 59.76486  1.31(.01) 59.76505 1.09(.01)
90.7 1.74( 0.06) 91.0 1.37( 0.06) 90.8 1.11( 0.02)
59.85004 1.36(.01) 59.85074 1.11(.01) 59.85077 0.95(.01)
91.0 1.43( 0.07) 0.6 1.12( 0.01) 91.0 0.88(-0.07)
59.94535 1.36(.01) 59.94587 0.97(.01) 59.94600 0.86(.01)
90.9 1.36( 0.00) 90.7 1.06( 0.09) 90.8 0.83(-0.03)
60.04049 1.61(.01) 60.04074 1 (=01 ) 60.04086 0.93(.01)
90.7 1.54(-0.07) 90.7 1.20( 0.08) 90.8 0.96( 0.03)
60.13730 2.12(.01) 60.13732 1.66(.01) 60.13785 1.29(.01)
90.9 2.07(-0.05) 90.8 1.64(-0.02) 90.8 1.33( 0.04)
60.21825 2.93(.06) 60.21828 1.83(.07)
90.8 2.85(-0.08) 90.8 1.92( 0.09)
60.29818 3.63(.01) 60.29890 3.00(.01) 60.29915 2 (.01)
90.9 3.70( 0.07) 90.9 3.09( 0.09) 90.8 2.62( 0.14)
60.32634 3.94(.05) 60.32647 3.04(.05) 60.32776 2.44(.07)
90.8 3.90(-0.04) 90.8 3:27( 0:23) 90.8 2.79{ 0.35)
60.39064 3.94(.01) 60.39247 3.36(.01) 60.39216 2.77(.01)
0.7 4.11( 0.17) 90.9 3.47( 0.11) 90.7 2.96( 0.19)
60.50031 3:17(-01) 60.50043 2.67(.01) 60.50063 2.19(.01)
90.7 3.34( 0.17) 91.0 2.77( 0.10) 90.8 2.33( 0.14)



H = 15 km
6.7°¢C 29.7°C 52.4°C
f. [GHz] a,(da) f, [GHz] a (da) f, [GHz] a,(da)
P [torr] ay (+Aa) P [torr] ay (tAa) P [torr] ay (*Aa)
dB/km dB/km dB/km
60.58666 2.25(.01) 60.58736 1.80(.01) 60.58739 1.43(.01)
90.9 2.31( 0.06) S0.6 1.85( 0.05) 91.0 1.51( 0.08)
60.68315 1.61(.01) 60.68366 1.31(.01) 60.68380 1.00(.01)
91.0 1.62( 0.01) 90.6 1.27(-0.04) 90.8 1.02( 0.02)
60.77945 1.34(.01) 60.77970 1.05(.00) 60.77993 0.83(.00)
90.7 1.34( 0.00) 90.7 1.05( 0.00) 90.8 0.84( 0.01)
60.87746 1.36(.01) 60.87748 1.11(.00) 60.87812 0.84(.01)
90.9 1::37(0 G:01) 90.8 1.08(-0.03) 90.7 0.87( 0.03)
61.03128 2.08(.01) 61.03202 1.75(.01) 61.03226 1:53(.01)
90.9 2.16( 0.08) 91.0 1.80( 0.05) 90.8 1.51(-0.02)
61.12484 2.79(.02) 61.12672 2.44(.01) 61.12655 2.06(.01)
91.0 2.95( 0.16) 90.7 2..56i( 0.12) 90.7 2.24( 0.18)
61.23587 2.37(.01) 61.23610 2.03(.01) 61.23618 1.66(.01)
90.7 2.48( 0.11) 90.8 2.09( 0.06) 91.0 1.79( 0.13)
61.32327 1.75(.00) 61.32398 1.39(.00) 61.32407 1l.16(.01)
91.0 1+ 73(=0.02) 90.6 1.40( 0.01) 90.8 1.16( 0.00)
61.42093 1.35(.00) 61.42161 1.08(.01) 61.42156 0.90(.01)
90.9 1.32(-0.03) 91.0 1.06(-0.02) 90.8 0.86(-0.04)
61.51841 1.32(:01) 61.51866 1.06(.01) 61.51891 0.85(.01)
90.7 1.28(-0.04) 90.8 1.03(-0.03) 90.8 0.84(-0.01)
61.61761 1.64(.00) 61.61772 1.27(.01) 61.61826 1.05(.01)
90.9 1.59(-0.05) 90.7 1.31( 0.04) 91.0 1.09( 0.04)
61.76435 2.68(.01) 61.76543 2.33(.01) 61.76534 2.09(.01)
90.7 2.77( 0.09) 91.0 2.44( 0.11) 90.8 2.16( 0.07)
61.85906 2.46(.01) 61.86097 2.17(.01) 61.86080 1.87(.01)
91.0 2.62( 0.16) 90.7 2.26( 0.09) 90.7 1.98( 0.11)
61.97160 1:72(:01) 61.97166 1.46(.00) 61.97174 1.14(.01)
90.9 1.71(-0.01) 90.8 1.41(-0.05) 91.0 1.18( 0.04)
62.05983 1.47(.01) 62.06060 1.26(.01) 62.06069 1.01(.01)
90.7 1.42(-0.05) 90.7 1:15(-0.11) 90.8 0.95(-0.06)
62.15881 5(.01 62.15940 1.24(.00) 62.15936 1.01(.01)
90.7 0(-0.05) 91.0 1.23(~0.01) 90.8 1.01( 0.00)
62.25737 2.08(.01) 62.25762 1.73(.01) 62.25788 1.44(.01)
90.6 2.04(-0.04) 90.8 1.70(-0.03) 90.8 1.44( 0.00)
62.35796 3.02(.01) 62.35788 2.64(.01) 62.35843 2.32(.01)
90.7 3.14( 0.12) 90.7 2.74( 0.10) 91..1 41( 0.09)
62.49746 3.06(.00) 62.49854 7(.01) 62.49846 2.40(.01)
90.7 3.22( 0.16) 91.0 2.79( 0.12) 90.8 2.44( 0.04)



H = 15 km
6.7°C 29502¢ 52.4°C
f, [GHz] a, (éa) f, [GHz] a, (Sa) £, [GHz] a,(da)
P [torr] ay (XAa) P [torr] ay (*Aa) P [torr) ay (fAa)
dB/km dB/km dB/km
62.59328 2.16(.00) 62.59521 1.84(.00) 62.59505 1.45(.01)
91.0 2.20( 0.04) 90.7 1.83(-0.01) 90.7 1.55( 0.10)
62.70716 1556 (12025 62.70722 1.17(.01) 62.70731 1.05(.01)
90.9 1.46(-0.10) 90.7 1.21( 0.04) 91.0 1.00(-0.05)
62.79644 1237 (.01 62.79723 1.11(.00) 62.79731 0.94(.01)
90.7 1.34( 0.03) 90.7 1.12( 0.01) 90.8 0.95( 0.01)
62.89660 1.62(.00) 62.89720 1.44(.01) 62.89715 1.24(.01)
90.7 1.64( 0.02) 91.0 1.45( 0.01) 90.8 1.28( 0.04)
62.99633 1.92(.00) 62.99658 1.84(.01) 62.99685 1.65(.01)
90.7 2:01¢f 0:09) 90.8 1.87( 0.03) 90.8 1.74( 0.09)
63.09812 1.41(.01) 63.09804 1 (:01) 63.09860 1:17(-01)
90.7 1.44( 0.03) 90.7 1.29( 0.02) 91:1 1.15(-0.02)
63.23056 0.84(.01) 63.23166 0.71(.00) 63.23157% 0.61(.01)
90.7 0.83(-0.01) 91:.0 0.71(-0.06) 90.8 0.62( 0.01)
63.32750 0 77.(:01) 63.32946 05671:01) 63.32929 0.61(.01)
91.0 0.74(-0.03) 90.7 0.65(-0.02) 90.7 0.57(-0.04)
63.44272 0.98(.01) 63.44278 0.89(.01) 63.44288 0.80(.01)
90.9 0.97(-0.01) 90.8 0.88(-0.01) 91...0 0.80( 0.00)
63.53305 123 61(0 0 63.53384 1.304¢:.01) 63.53394 1 {:-01%
90.7 1.34(-0.02) 90.7 1.29(-0.01) 90.8 1.24( 0.07)
63.63439 1:215(.01) 63.63499 1.06(.01) 63.63496 1,01 (=01)
90.7 1:17( 0,02) 90.9 1.11¢ 0.05) 90.8 1.04( 0.03)
63.73529 0.69(.00) 6373555 0.64(.01) 63.73582 0.61(.01)
90.7 0.70( B.01) 90.8 0.64( 0.00) 90.8 0.57(-0.04)
63.83827 0.52(.01) 63.83819 0.43(.01) 63.83876 0.42(.01)
S0.7 0.52( 0.00) 90.7 0.46( 0.03) 91.0 0.41(-0.01)
63.96365 0 {01) 63.96476 0.50(.01) 63.96468 0:62/{.01)
90.7 0.57( 0.05) 91.0 0.53( 0.03) 90.8 0.48(-0.14)
64.06172 0.75(.01) 64.06370 0.81(.01) 64.06353 0:83(.01)
91.0 0.82( 0.07) 90.7 0.81( 0.00) 90.7 0.79(-0.04)
64.17828 0.78(.01) 64.17834 0.74(.01) 64.17834 0.77(.02)
90.9 0.84( 0.06) 90.8 0.83( 0.09) 90.8 0.82( 0.05)
64.26966 0.52(.01) 64.27046 0.42(.01) 64.27053 0.43(.01)
90.7 0.52( 0.00) 90.7 0.49( 0.07) 90.7 0.46( 0.03)
64.37216 0.37(.01) 64.37273 0.40(.01) 64.37268 0.33(.01)
90.7 0.35(-0.02) 90.6 0.33(-0.07) 90.7 0.30(-0.03)
64.47395 0.39(.01) 64.47437 0.37(.01) 64.47477 0:32(501)
S0.7 0.34(-0.05) 90.8 0.32(=0.05) 91.1 0.30(-0.02)

A-61



H =15 km
6.7°C 29.7°C 52.4°C
f, [GHz] a, (da) f, [GHz] a, (da) £, [GHz] a,(éa)
P [torr] oy (tAa) P [torr] ay (*Aa) P [torr] cy (TAa)
dB/km dB/km dB/km
64.57841 0.47(.01) 64.57832 0.47(.00) 64.57892 0.43(.01)
90.7 0.45(-0.02) 90.7 0.45(-0.02) 91.1 0.45( 0.02)
64.69676 0.62(.01) 64.69785 0.55(.01) 64.69775 0.60(.01)
90.7 0.59(-0.03) g1.0 0.61( 0.06) 90.7 0.63( 0.03)
64.79544 0.36(.01) 64.79757 0.35(.00) 64.79775 0.35(.01)
90.6 0.37( 0.01) 90.7 0.37( 0.02) 90.8 0.36( 0.01)
64.91384 0.26(.01) 64.91387 0.19(.00) 64.91389 0.23(.01)
91.0 0.22(-0.04) 91.0 0.21( 0.02) 90.8 0.20(-0.03)
65.00622 0.19(.01) 65.00697 0.23(.00) 65.00715 0.26(.01)
90.7 0.20( 0.01) S0.7 0.20(-0.03) 90.7 0.19(-0.07)
65.10994 0.27(.00) 65.11053 0.33(.01) 65.11047 0.28(.01)
90.7 0.26(-0.01) 90.6 0.27(-0.086) 90.7 0.27(-0.01)
65.21290 0.42(.01) 65.21333 0.38(.00) 65.21374 0.39(.01)
90.7 0.36(-0.06) 90.7 0.39( 0.01) 91.0 0.42( 0.03)
65.31856 0.27(.00) 65.31847 0.29(.01) 65.31902 0.28(.01)
90.7 0.25(-0.02) 90.7 0.26(-0.03) 90.8 0.27(-0.01)
65.42985 0.13(.01) 65.43095 0.15(.01) 65.43086 0.15(.01)
90.7 0.15( 0.02) 91.0 0.14(-0.01) 90.7 0.14(-0.01)
65.52966 0.12(.01) 65.53182 0.11(.01) 65.53199 0.14(.01)
90.6 0.12(¢ 0.00) 90.7 0.12( 0.01) 90.8 0.12(-0.02)
65.64940 0.22(.01) 65.64942 0.17(.01) 65.64945 0.16(.01)
90.9 0:15(=-0:07) 91.0 0.16(-0.01) 90.8 0.16( 0.00)
65.74282 0.20(.01) 65.74358 0.20(.01) 65.74377 0.25(.01)
90.6 0.20( 0.00) 90.7 0.23( 0.03) 90.7 0.25( 0.00)
65.84772 0.15/(-01) 65.84833 0.14(.01) 65.84827 0.18(.01)
90.7 0.15( 0.00) 90.6 0.16( 0.02) 90.7 0.18( 0.00)
65.95185 0.11(.01) 65.95229 0.06(.01) 65:.95271 0.05(.01)
90.7 0.09(-0.02) 90.7 0.09( 0.03) 91.3 0.09( 0.04)
66.05872 0.01(.00) 66.05863 0.01(.01) 66.05919 0.06(.01)
90.7 0.07( 0.06) 90.7 0.07( 0.06) 90.7 0.07( 0.01)
66.16294 0.04(.01) 66.16407 0.08(.01) 66.16397 0.08(.01)
90.6 0.08( 0.04) 91.0 0.08( 0.00) 20.7 0.09( 0.01)
66.26387 0.13(.01) 66.26606 0.11(.01) 66.26624 0.07(.01})
90.6 0.11¢(-0.02) 90.7 0.12( 0.01) 90.8 0.14( 0.07)
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DRY AIR (h = 15 km)
P = 12.11 kPa

Attenuation @, dB/km

Frequency f, GHz

Figure A-6a. Predicted and measured attenuation rates of dry air, ay and a,
at H = 15 km (see F.) for frequencies between 56 and 64 GHz.
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Figure A-6b. Differences Aa = oy - a, between predicted and measured
attenuation for the results listed under F.
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